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Please draw a | box | around your answers. No caleulators, cell-phones, notes, ete. allowed.

1.(8pts) Give the equation of the tangent plane to  zz+2x°y—yz* = —11  at the point (1, 2, 3).
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3.(15pts) Evaluate the line integral

I= r:F[:i_r,r + Vel + 1) de + (22 — +/y' + 1) dy
b |

where ' is the closed curve which consists of the are of the curve y = sinx

from (—m,0) to (0,0) and the line segment from (0, 0) to (—=, 0).
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4.(3= 8=24{pls) Compute the power series for f(x) = T3 around a = 0
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(b) Using Tavlor’s series formula.
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5.(5x 3=15pts) Determine whether the given series are convergent or divergent.

State which tests vou use, and give details.
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6.(20pts) Find the radius of convergence and the interval ol convergence of the
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T.(8+2=10pts) (a) Write a series which converges to J arctan(x?) dx.
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(b) Will this method work to get a series for J‘L nrrlnn[.rl] dx!!

Why or why not?
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